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coffee table
end table
footstool
hutch
ash
chestnut 4x6 Logic Puzzle
oak Presented by Puzzle Baron
poplar Puzzle ID: D35000
rosewood For hints, solutions and more puzzles, go to our website:
walnut www.Printable-Puzzles.com
Dollars Woodworkers Woods Pieces
$250
$275
$300
$325
$350
$375

Copyright © Puzzle Baron - October 18, 2019 - Go to www.Printable-Puzzles.com for Hints and Solutions!



http://www.printable-puzzles.com

Clues for Logic Puzzle: D35000

1. Antoinette's piece wasn't made of walnut.

2. The piece made of oak costs more than the bookshelf.

3. The bench costs 100 dollars less than the piece made of walnut.

4. Of Gwen's item and the item made of chestnut, one is the footstool and the other costs $300.

5. The item made of walnut, the bench, the $275 piece, the $300 piece and the end table are all different
pieces.

6. Of Cheri's piece and the $300 item, one was made of ash and the other is the bench.

7. Of the bookshelf and the $275 item, one was made of ash and the other was crafted by Irma.
8. The hutch costs 25 dollars more than Gwen's piece.

9. The hutch wasn't made of poplar.

10. Neither the $350 item nor the hutch is Josephine's item.

11. The $325 piece wasn't made of oak.
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